83-116
:N1¥P19-5 B3

9%, ¥"I0 RO OR MR DX 920237 129997 R 10,1

a. f:Z—>Z|vneZ f(n)=n’-n

n+L2r—-%8 n

n N

C. asap-A . f:P(A)—>P(A)|VBeP(A) f(B)=A\B

b. f:N>N|VneN f(n):{

W f:N—>N %710 .2

Sy R y'nn f.x
¥y R Sy f a2

9w MIINANT 2P DR IREAY Y'IN NIR2T 11972 197K 1277977 Wm0 .3
a. f:Z—>2Z|vxeZ f(x)=2x+1

b. f:Q—->Q|vxeQ f(x)=2x+1
| T T o
C. fl:—E,E}%RIVXEI:—E,E} f(X)—Sln(X)
2

A7°22 1977 92 M0 Yop

(197 NN 4
f,g:A=(-2,71—> R,

\
(,717’.73 MITATY DD MIND N0 N7 YR J
f =2x-4,
_2x*-8
CX+2

f=g *> X0

f:R—>R|VxeR f(x)=x* :nonmmn.5
:NIR2T 2P DR R¥N

a f(A)]| A=(01uv][2)3
b. f(A)] A=(-2-1)U(L2)

NR XXM 19 OR-2712°07 OKR7 29V OR7 2910 oK Yap 1D NN 2°R27 2°0°Y0an TR 952.6
Nakebihh]



L > Z|VxeZ f(x)=2x
‘R>R|VxeR f(x)=2x

1
1+ x?

:RTU{0}—> (01]| vxe R" U{0} f(x)=

‘R—>R|VxeR f(x)=

1
1+ x°

;1IN 229N2 DAY INRY N3N NN .7
Mo fren fogo f ORK

nong IR Ten fogoef ox .2



